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1. Answer the following as d1rected : 1x8=8
(@ What is youth dependency ratio?
(p) Whois a sharecropper?
ber of farm

(c) Despite the far small
workers per hectare Umted States
of America, its grait y1 eld per hectare is
much higher than tha at of India. .
( State True or False )
(d) When was sustain ble development
:.. introduced first?



(2)

n tl

() What is‘

natur:
population? al growth rate of

( :
g) Define commedity termg of trad
. - trade.

(h T . . .
) Trade pessimists tend to fo |
cus on

(i) the limited proust. |
.o Browth
for primary expon:f world demand

(ii) the secular
of . deteriorati
trade for on of terms

countries Primary producing

countries to
 higher velue-proq
(v) All of the aboye

Ve up to e
ort
ducts P

any

(within 150 words eq Jour of the following

. ch) .
(a) Migration and popul 4x4=16
atio

(b) Inter-linkages

() Climate change
(d) Financial instapj;

( Continued )

(3)

zlst‘:’er the following questions (within 500 words
ch) : _

the theory of
ition. At what stage

do most developin
8+3=11

3. (a) Describe briefly
demographic trans
in this transition
countries seem to be".>

Or
(b) Examine the connectiqns between
income, mortality, fertility choices and .
human capital accumulation.

in tenancy

4. (a) Discuss how the reforms gn'cultural
a

system would affect
productivity and efficiency

or

12

(b) () “The rural casual 'la.bour martlicla:
generally fails to. jmprove e
nutritional status of workers
this process ™ es employers .
worse off as well.” Discuss-

(ijj Examine how
transactions can
inequalities in pOOI'

Jea

S. (@) Examine the role of ¢ 1
economic Jevelopment:
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(b)
6. (a)
(b)
7. (a)
-(b)
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(4)

Or

() Why is the community called the
third pillar of the economic system
in addition to market and State? 4

() What are the causes of community
failure? Discuss the ways to
OVEIrcome community failure.  4+3=7

Define sustainable development. Is
sustainable development a practical
and feasible goal fo, nations? What

might be some of the difficulties and
possible trade-offgp

Explain  your
answer.

3+8=11
Or

problems? 9+3+3+3=11
“International trade ;

growth.” Give argum
the statement.

S a stimulus to

nts for and against .
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(a) What is youth depe™
er?
(b) Who is & sharecroPP i 7
o S
all 0U d State
i far sm Unite
of A - dia-
- In
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much higher s
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